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1. Find a parametrization for the line of intersection of the planes = + 2y 4+ 3z = 6 and
x —y = 0. Sketch.
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2, The curves t7+ 27+ 3k and sin(t)7 + sin(2t) 74 tk intersect at the origin. Find the
angle of intersection.

Topeb w5, | Fper]
e B
0 ) \

VA pedads UV ] |v)cn ®



Hee * =16 en®

tn O

ol

A . O =oness ("‘):l-\‘? vadians
’ '
\‘_c: (‘,S-.903

3. Find the limit of ay3/(2* 4+ 2¢*) as (x,4) — (0,0) or show that the limit fails to exist,
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4. Suppose f iz a differentiable function of @ and y and g{u,v) = f(e" + sinv, e + cosv).

Use the table of values to find the directional derivative of g at the origin along the main
diagonal.
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5. Integrate /(1 + xy) over the unit square [0,1] x [0, 1].
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